
ℎ𝑎𝑙. 𝑠𝑒𝑛𝑠𝑜𝑟. 𝑖𝑖𝑜. 𝑎𝑐𝑐𝑒𝑙. 𝑚𝑎𝑡𝑟𝑖𝑥 = 𝑠1𝑥, 𝑠1𝑦, 𝑠1𝑧, 𝑠2𝑥, 𝑠2𝑦, 𝑠2𝑧, 𝑠3𝑥, 𝑠3𝑦, 𝑠3𝑧  

𝑠 ∈ 𝑅{−1.0, +1.0} 

(𝑠𝑒𝑛𝑠𝑜𝑟𝑋 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 𝑠𝑒𝑛𝑠𝑜𝑟𝑍) × (

𝑠1𝑥 𝑠2𝑥 𝑠3𝑥

𝑠1𝑦 𝑠2𝑦 𝑠3𝑦

𝑠1𝑧 𝑠2𝑧 𝑠3𝑧

) = (

𝑠1𝑥 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 𝑠2𝑥 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 𝑠3𝑥 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

𝑠1𝑦 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 𝑠2𝑦 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 𝑠3𝑦 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

𝑠1𝑧 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 𝑠2𝑧 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 𝑠3𝑧 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

)

𝑇

 

𝑣𝑎𝑙𝑢𝑒𝑋 = 𝑐𝑜𝑟𝑟 ∗ (𝑠1𝑥 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 +  𝑠2𝑥 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 + 𝑠3𝑥 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍) 

𝑣𝑎𝑙𝑢𝑒𝑌 = 𝑐𝑜𝑟𝑟 ∗ (𝑠1𝑦 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 +  𝑠2𝑦 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 + 𝑠3𝑦 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍) 

𝑣𝑎𝑙𝑢𝑒𝑍 = 𝑐𝑜𝑟𝑟 ∗ (𝑠1𝑧 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 + 𝑠2𝑧 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 + 𝑠3𝑧 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍) 

 

e.g. (default) 

(𝑠𝑒𝑛𝑠𝑜𝑟𝑋 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 𝑠𝑒𝑛𝑠𝑜𝑟𝑍) × (
−1.0 0 0

0 +1.0 0
0 0 −1.0

) = (
−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 +1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 −1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

)

𝑇

 

(𝑠𝑒𝑛𝑠𝑜𝑟𝑋 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 𝑠𝑒𝑛𝑠𝑜𝑟𝑍) × (
−1.0 0 0

0 +1.0 0
0 0 −1.0

) = (
−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋

+1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌

−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

)

𝑇

 

𝑣𝑎𝑙𝑢𝑒𝑋 = 𝑐𝑜𝑟𝑟 ∗ (−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋) 

𝑣𝑎𝑙𝑢𝑒𝑌 = 𝑐𝑜𝑟𝑟 ∗ (+1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌) 

𝑣𝑎𝑙𝑢𝑒𝑍 = 𝑐𝑜𝑟𝑟 ∗ (−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍) 

e.g. (my TreckStor Tablet) 

(𝑠𝑒𝑛𝑠𝑜𝑟𝑋 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 𝑠𝑒𝑛𝑠𝑜𝑟𝑍) × (
0 −1.0 0

−1.0 0 0
0 0 −1.0

) = (
0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 −1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋 0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 −1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

)

𝑇

 

(𝑠𝑒𝑛𝑠𝑜𝑟𝑋 𝑠𝑒𝑛𝑠𝑜𝑟𝑌 𝑠𝑒𝑛𝑠𝑜𝑟𝑍) × (
0 −1.0 0

−1.0 0 0
0 0 −1.0

) = (
−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌

−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋

−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍

)

𝑇

 

𝑣𝑎𝑙𝑢𝑒𝑋 = 𝑐𝑜𝑟𝑟 ∗ (−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑌) 

𝑣𝑎𝑙𝑢𝑒𝑌 = 𝑐𝑜𝑟𝑟 ∗ (−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑋) 

𝑣𝑎𝑙𝑢𝑒𝑍 = 𝑐𝑜𝑟𝑟 ∗ (−1.0 ∗ 𝑠𝑒𝑛𝑠𝑜𝑟𝑍) 

 


